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fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more

bubbles ler_gsult in zero marks in that question \“\mlmI‘I“““‘mmmmn\‘\mmm‘\
Question No. 1
Which of the following has large specific heat ? $ 4wl o =7 J g/ e £ S5t

Mercury 857 (D) Water (35 {€) lce iz (B) Copper ¥ (A)
............ = (V) 5g Qo7 s & o 74

Volume thermal expansion' of solids (V) =
V, (1+pBAT) (D) V,+ B AT (€) Vv, (1+aAT) (B) V,+ a AT {A)

Rate of flow of heat = ----==-=-=""" =GP M L7

Q? , Q
Y (D) a’xt () T (B) axt (A)
Least count of digital Vernier Callipers is -q..&i( < (J;}{ Fa ,,}‘5‘;
1 1 1 1
T cm (D) o % cm (C) o m (B) o €M (A)
In third equation of motion 2aS + V,2 = s 2a$ +Vf = Ll Ve J =7
” t (D) £ (C) Vs (B) Vi’ (A)
Coefficient of friction ({) = weesesseesee: ¢ Az (p) <o &Lf ¥ J"r }
F
FsR* (D) P @ RR@

t q,a,n .:wf‘JZufé;éf)éfﬁifréﬁ L
Torun, wh;t is needed to push the ground backward ?
Friction f } (D) Acceleration u"-")f-l (C} Weight o (8) Momentum r"‘-’ » (A)
e § Sk S
Nm (D) Nm? (€) Nm’(B) Nm?* (A)

S.1 unit of torque is.

The value of ‘g’ atthe surface of sunis _q_Jn:-ZJ ‘g’ i S ey
9.8 ms? (D) 274.2 ms” (C) 25.94 ms” (B) 8.87 ms” (A)
¢ b /.U.L...--—--Jr)'u'l J Qrk(c—..y JJIJ()U’(

Work done by a body due to its motion is equal tQ -=m=---====" of body.

Velocity (s (D) Power st (C) Kinetic Energy G.JIUE-'GK(B) Potential Energy &/’If‘fg (A)

One horse power is equal to & b sl sy UA ke

674 watt (D) 647 watt (C) 476 watt (B) 746 watt (A)
v b ua B 20 & &inKopkl

What should be the approximate length of a glass tube to construct a water barometer ?
\ 0.5 m (D) 1m (C) 2.5 m (B) 11 m (A)

NOTE: Four possible answers A; B, C and D to each question are given. The choice which you think is correct,
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Q. No.2 Write Short answers to any five of the following 2x5=10 ..é /,j =ALR /""’ Loz ék .:.Jf L/:)Jlr
Define Scientific Notation and give example. » _Zs Joum 2 i § sl Sddiilal ()
What do you know about Geo — Physics ? SWZe Lt Ll SI2 o | (i)
Estimate your age of 15 years in seconds. B ke ua ¥ 1562058 | (i)
Define centrifugal force. Sl usSE x| (iv)
What is difference between action and reaction ? -’4,(20) 194 u’glw PRCal (v)
What would happen if ali friction suddenly disappears ? S¥nl I lon f’..!kt i J("ﬁﬁ {vi)
What is meant by the force of gravitation ? Se oy Ve Uit 5 11) {vii)
Define field force. -Z w78 v W (viii)

Q. No.3 Write Short answers to any five of the following  5x2=10 _54)’ :,LL?./'?ﬁrlZl égc,df 3-/./.Jlr

-éuk. J) s S /:bJUT -l /.?' dt‘ L Jl/.c'f.{ué’/” JJJI
Define a graph. Differentiate between independent and dependent variables of a graph.
Draw distance — time graph for a body at rest. it ..th("? - s é;f(’ ind,
Differentiate between Scalars and Vectors. . -2‘_5 vk Jioksr £ J}Q al 3K
‘ e Uieg 400 g UL KA L peds 200 cm®
The mass of 200 cm’ of stone is 400 g. find its density.

State Archimedes principle. -2 Y I KU
Why is water not suitable to be used in a barometer ? §bw uff Uy UL 8 e K fdp'

_ S‘q_ t'n}l&(((gvc':‘i,;} v)&u:é u,/éu';u’(,g L;'Jﬂ,([.cpll
How does rate of flow of heat vary with the temperature difference between the ends of a solid ?
Write down the names of four faces of a Leslie’s cube. gl o dd LY

(i)

(i)
(iii)
(iv)
(v)
(vi)
(vii)

(viii]

Q. No.4 Write Short answers to any five of the following ~ 5x2=10 -é ,(j' AR ALan é& ‘:.Jf 4./:}le

i ?nyﬁwf J,:i)u&u) Lf'/;)) de.g-é..gf"cfd{

Define couple. What will be the angle between two forces of a couple ?
Uy

State the principle of moments.
-érﬁ’yjsl/lﬁ JJJ}J’ -4 Fy#GN » F,=8N 4_ LF JJ}..{I
If F, =8 Nand F, = 6 N, find the magnitude and direction of force F .
' ?Jnid}l;@éb’d‘u’l?i.@nb(u&ﬂsJr)'i.xl./c:f]fl-éal:v(;&ﬂu@?db’
Write down the equation for Kinetic energy. If velocity of 2 moving becomes two times, what will
happen to its Kinetic energy ?

L e i oo e 0SS A 150m U or S U (P o 8 S 4 ¢F L 0id S 200N

A force of 200 N acts on a body which move 150 m in the direction of force. Find the amount of work done
Write down any two renewable energy sources. w4 e L Bus 0 £ B2 a8 S

LE L LERALSE 0¥ S E S g4 122°F

Convert 122 °F temperature into temperature on Celsius scale and Kelvin scale.

Se 4 S SMKN S ey e B J}'Jr’wf

(i)

(ii)
(iii)

(iv)

(v)

(vi)

i) ¢

(viii) B

What is meant by internal energy of a body ? On what factors does it depend ?

Part— Il pgdda>
Note: Attempt any two questions from this part 9 x2=18 _é/ (O 4 Ly :...J/‘:. S o Jl

)

Drive the formula to calculate the orbital speed of artificial satellite near Earth.

4 S B LS o by T o) £ ot e 8= (A) 54Ul

5 tnenp b F L Ll )8 by HMI L ams? S ¢ 20N s ¥ /7 L1 |(B)
A body has weight 20 N. How much force is required to move it vertically upward with an
acceleration of 2ms??

What measures do you suggest to conserve energy in houses ?

4 YL g 2f e e of &5 £ 8h ot un ST (B) 6-AUr

5 -2 P/'Z.{,UIJLHI&:.JJ} JZON s i/'u"l ﬁ:..lomm&"b'...{l Ju’?q_ud/l/(;ﬂg b’c{«.{! (B)
The head of pin is a square of side 10mm. Find the pressure on it duetoa force of 20 N.

Define evaporation and write factors that s rate of evaporation in detail.

4 iy étd'lf S S L vﬁuﬁlﬂ 22 ) S Pagp A T-AUir
aire

5 - uﬁie-'ug»sd»féw-f.wb.,,ur30°1uéyfr-xw} Json |(B)

N T T T DI 2. 7 . L* AU sy gy
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fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more

NOTE: Four possible answers A, B, Cand D to each question are given. The choice which you think is correct,

bubbles will result in zero marks in that question

Question No. 1

1_/1? Jis

0K (D) -273K (C) 32 °F (B)

When ice is cooled below 0°C, it

In solids , heat is transferred by.

5000 ng (D) 100ug () 2mg(B)

Water freezes at. - bl ot sy }/,2 J? Gg -1

0°F (A)

u?f.c'l,_bfu-iéc,o“CfJ/.~f2 2
Evaporate q..(j"gul;: (D) Melt .;..G"E (c) Expand q_GL{ (B) Contracts 4.4._3;‘ (A)
e PR uF | 3
Absorption ¢4z (D) Convection &£#(C) Conduction 4 (B) Radiation ¢16is (A)

Which one of the fo“owing is the smallest quantity ? g @ Jf,’ & o NP u"fa- St | 4
0.01g (A)

¢ Sl e § 1 ot st o S &7 o kg J 36 Kmh™ o2 | 5

A train is moving at a speed of 36 Kmh™ . Its speed expressed in ms™ is

Velocity 0 (D)  Mass U4 (C)  Netforce Jhas (B)

3

The speed of light is.

PR 7. § 1 m [(R)

Force U4 (A)
_4,@"-"):(5,&‘4,!,;@?!;_” J20N > J..fl/.-:)u} el g G E| T

A string is stretched by two equal and opposite forces of 20 N each, the tension in the string is.

20N (D) 10N (C) 5N (B) Zero M (A)
A couple is formed by. e T J J[.,{l -8

Two forces perpendicular to each other a8 Godf 4y Lo (A)

Two like parallel forces 7/} J’ug EY 2 (B)

Two equal and opposite forces in the same line b 3 ol dis i LU L 2 (C)

Two equal and opposite forces not in the same line £/ > off z U § LI a3 I i 4z (D)

-q—&:f{dﬂ:dﬁl/“:-u":iu(—dﬁ:—dﬁig:»ftf‘g' 9

The value of ‘ g’ at the height one Earth’s radius above the surface of the earth is.
1 1 1

;8 (D) = g (€) 5 8 (B)

30ms® (D) 25 ms® (C) 20 ms™? (B) 10ms™t (A)
Inertia debends upon. " i MY a6

2 g (A)

$¥n Sos (¢LpL,€dﬁJ5mb¢quﬂJrlffz 21

The work done in lifting a brick of mass 2 kg through a height of 5 m above the ground will be.
1000 (D) 3.5J) (C) 100J (B)

10J (A)

‘ _q_,jt'h Jé’u -1
3x10® ms? (D) 3x10°ms® (O 3x10° ms” (B)  3X 10° ms? (A)
' tilp dnd ia QS 2 S & E Luam ¥y L

What should be the approximate length of a glass tube to construct a water barometer ?
o =y e 11 m (A)

S-SRI
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Q. No.2 Wwrite Short answers to any five of the following» 2x5=10 -2.:” 4;’ Y 4 /” L iz é& :._J:( 2./2’1)!1
Differentiate bgtween base quantities and derived quantities. .é Wk OF LUsIsrsA sl g Skl (i)
Estimate the age of 15 years in seconds. - a8 L un ¥ SJ15 {ii)
What is meant by vernior constant ? Yestp e o2 2l iii)
What is difference between action and reaction ? ATy N u’{i $s sl u’{: (iv)
State Newton’s second law of motion. 2 U I8 1w K P ¥ e (v)
Why it is dangerous to travel on the roof of a bus ? fq b JEB ot 4= g (vf)
Why law of gravitation is important to us ? fe A udd ca i ¥ u’! d,zf (vii)
What is Global positioning system ? ' Te W By S (viii)

Q. No.3 Write Short answers to any five of the folloWing 5x2=10 -é 4;’ T 4 ALz &I; ::_Jf 3—/ Jrs

Differentiate between Scalars and Vectors. -é ok I s £ A

) Jk S ) S uis A‘J’j s G S vz s

Why vector quantities cannot be added and subtracted like Scalar quantities ?

(i)
(i)

Define linear motion and circular motion. g Jw’y’/‘/ s (iii)
A wood block floats on water why ? Sud e b2 4 G!; Fygs (iv)
Differentiate between stress and strain. ANy Iy (v)
Define deforming force and elasticity. - - éhe’/‘.r § eniaaty st F Fetys (vi)
Define land breeze and see breeze. P ) U STF FOP IR PPN, (vii'
What causes a glider to remain in air for a long period ? Yo orVe, Fokinl pf (viii‘

Q. No.4 Write Short answers to any five of the following ~ 5x2=10 _é /J’ Y 4 ALz é!; c_J/ 4./:‘.")!:

e L e b el wd15om S0 U S 200N EE
A mechanic tightens the nut of a bicycle using 15 cm long spanner by exerting a force of 200 N,
find the torque.
Explain center of mass with diagram. ) & ool S T e sa JP
So iy e fo widn of fo o wiisd JFHE G\
Can a rectangular component of a vector be greater than the resultant vector ?
Write the components of heating system. el ("" Ky
Write the three natural causes of air pollution. -q’f 47 =R 4 f £ J:JT Sin
Y _wL/Jiut‘;)lJ;':(f&)uﬁ}glzg,urbéau‘fd:ug
Name any four devices that convert electrical energy in to mechanical energy.
Relate thermal equilibrium with daily life. ek JJ:J Y2 fﬁ/dif J7

Convert 900 K on Kelvin scale into Celsius scale. ..2;-’: Je L Jtc Swadaa S J:‘ u_é.f 900 K

0]
(ii)
(iii)
(iv)

(v)
{vi)

{vii)

{viii

Part -1l pssda>
Note: Attempt any two questions from this part 9 x 2=18 ,2f-:4f .-,yzé.-,wm 4_(})/ S 2 Ji

He |

Define centripetal force, give an example and also derive its formula.

4 “E IR N B o 2 P S ud S G (A) 5-AUly

5 " S iy RAH T 100N £ 2 i £ 1 S¥ 50 |(B)

Find the acceleration produced by a force of 100 N in a mass of 50 Kg.

Using Pascal law derive mathematical equation for hydraulic press.

4 g uenl Yo L LRl a2 S de Lo £ Fy (A 6-AJir

5 S PR LLSE Li¥100m 3/ Utk e KM L05ms? o b e o/ i |(B)
¢ don | Ut Kmb™

A train starts moving from rest with an acceleration of 0.5 ms™. Find its speed in Km h™*,

When it has moved through 100 m.

Determine a force from its perpendicular components according to the head to tail rule.

4 .Ef,:r:h’ U e sa JUW Gof Gl £ o qf‘}&f (A) 7-/&)”’

5 - e gA g0 St & 20ms™ Ly S 3 12 KN i |(B)
A car weighing 12 KN has speed of 20 ms’, Find the Kinetic energy.
mn
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